Decimal addition

1 1
47.15
+19.36

©6.51

Werite in the answers to these problems.

Write the answer to each problem.

53.72 84.17 29.36 23.56 62.49
+77.92 +68.21 +66.84 +79.14 +18.75
35.67 29.88 67.39 49.32 27.22
+12.99 +43.02 +81.70 +14.95 +38.84
Werite the answer to each problem.
76.30 44.29 81.97 29.86 68.25
+22.97 +11.04 +69.14 +76.33 +84.36
83.90 45.83 52.17 84.93 72.83
+30.24 +45.71 +90.21 +29.37 +41.16
Werite the answer to each problem.
37.89 + 82.15 = 3244 + 21.88 = 37.19 + 28.24 =
68.67 + 29.82 = 21.99 + 79.32 = 52.45 + 34.58 =
84.77 + 39.12 = 63.84 + 29.81 = 3443 + 25.64 =
33.97 + 24.62 = 76.39 + 43.78 = 52.38 + 38.43 =
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Decimal addition

11
47.15

1]
43.99

Werite in the answers to these problems.

+19.36 +12.76
©0.51 56.75
Write the answer to each problem.
53.72 84.17 29.36 23.56 62.49
+77.92 +68.21 +66.84 +79.14 +18.75
121.04 152.38 96.20 102.70 81.24
35.67 29.88 67.39 49.32 27.22
+12.99 +43.02 +81.70 +14.95 +38.84
45.00 72.90 149.09 o4.27 06.06
Write the answer to each problem.
76.30 44.29 81.97 29.86 68.25
+22.97 +11.04 +69.14 +76.33 +84.36
G2 25,22 151.11 106.19 152.061
83.90 45.83 52.17 84.93 72.83
+30.24 +45.71 +90.21 +29.37 +41.16
114.14 91.54 142.55 114.20 113.99
Werite the answer to each problem.
37.89 + 82.15 = 120.04 3244 + 21.88 = 54.32 37.19 + 2824 = 65.43
68.67 + 29.82 = 9&.49 21.99 + 7932 = 101.31 5245 + 34.58 = 87.03
84.77 + 39.12 = 123.69  63.84 + 2981 = 93.65 3443 + 25.64 = ©60.07
3397 + 24.62 = 5859 76.39 + 43.78 = 12017  52.38 + 3843 = 90.81

This page should follow on from earlier addition work. On this page, children
are dealing with two decimal places. The most likely mistakes will be errors
involving carrying, or in the third section, where they are working horizontally.
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